=
arrz |4 BAD(ESEE) (5. ADEBBE-S) [6. AD@BBE %)
| 2| EsL [ A [APN PN
= &0t 1 337,190 1 157,002 1 180,188
EFRh 13 13,524 13 6,392 13 7,132
"= 10 17,577 10 8,334 10 9,243
EET 2 47,982 2 22,724 2 25,258
TiE™ 6 27,038 6 13,091 6 13,947
JAlgTh 8 22,606 7 11,025 8 11,581
BET 9 20,907 9 9,714 9 11,193
TEFKT 12 13,778 12 6,421 12 7,357
mA+H 3 34,313 3 16,183 3 18,130
E@h 4 32,961 4 15,847 4 17,114
FX 5 27,513 5 13,261 5 14,252
BGERT 30 2,584 29 1,270 30 1,314
Z= 4 Fi|HT 27 3,326 27 1,511 27 1,815
E EFET 28 2,733 28 1,290 28 1,443
ZHEET 29 2,631 30 1,256 29 1,375
JeJi#t 32 1,294 32 607 32 687
B 33 823 33 391 33 432
=4 24 3,858 24 1,802 24 2,056
Z|LIET 26 3,573 26 1,726 26 1,847
REM 23 3,962 23 1,817 22 2,145
T 1EmT 22 3,997 22 1,869 23 2,128
KIFt 34 396 34 202 34 194
RY)):] 7 22,767 8 10,797 7 11,970
1= )BT 19 5,551 19 2,602 19 2,949
H A HT 16 6,840 16 3,170 16 3,670
{E )1 BT 14 13,114 14 6,158 14 6,956
Fagsiling 17 5,795 18 2,669 17 3,126
IR ET 25 3,608 25 1,750 25 1,858
HE# 21 5,030 21 2,337 20 2,693
FEERET 18 5,794 17 2,750 18 3,044
/8 5+ HT 11 17,325 11 8,197 11 9,128
=L 20 5,095 20 2,424 21 2,671
=R 31 1,574 31 749 31 825
vy 15 11,217 15 5,334 15 5,883
= e 728,276 342,672 385,604
ER ER2TE10R1H ER27E10R1H ER27E10R1H
=g EFHAE ERHEE EZRAE
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7. BAOERERE 8. AOEREXRER-|9. AO(EREXRAIK-
HHETFT 4 |12 |1R) 5) )
| 2| EsL [ A [APN PN
= &0t 1 327,575 1 152,962 1 174,613
EFRh 13 13,036 13 6,247 13 6,789
"= 10 17,133 10 8,166 10 8,967
EET 2 47247 2 22,581 2 24,666
TiE™ 5 26,948 5 13,118 5 13,830
JAlgTh 8 21,502 8 10,517 8 10,985
BET 9 20,211 9 9,501 9 10,710
TEFKT 12 13,344 12 6,310 12 7,034
mA+H 3 33,680 4 15,960 3 17,720
E@h 4 33,340 3 16,143 4 17,197
FX 6 26,088 6 12,274 6 13,814
BGERT 30 2,381 30 1,142 30 1,239
Z= 4 Fi|HT 27 3,137 27 1,461 27 1,676
E EFET 29 2,618 29 1,245 28 1,373
ZHEET 28 2,653 28 1,301 29 1,352
JeJi#t 32 1,270 32 599 32 671
B 33 858 33 415 33 443
=4 23 3,729 23 1,755 23 1,974
Z|LIET 25 3,477 26 1,613 25 1,864
REM 24 3543 25 1,640 24 1,903
T 1EmT 22 3,826 22 1,839 22 1,987
K+ 34 394 34 201 34 193
RY)):] 7 22,567 7 10,754 7 11,813
=% )IIBT 19 5,224 19 2,484 19 2,740
H A HT 16 6,693 16 3,109 16 3,584
)11 BT 14 12,704 14 5,999 14 6,705
Fagsiling 18 5,539 18 2,580 18 2,959
IR ET 26 3,470 24 1,680 26 1,790
HE# 20 5,008 21 2,357 20 2,651
FEERET 17 5,731 17 2,731 17 3,000
P8 5 + BT 11 16,809 11 7,986 11 8,823
=L 21 4,939 20 2,384 21 2,555
=R 31 1,498 31 732 31 766
2iEEr 15 11,058 15 5,282 15 5,776
= e 709,230 335,068 374,162
ER SH2E1A1H SHR2E1R1H SH2E1RA1H
=g FEREXRSRICEDIAD [EREXAEICEIAD [FREASKRICEIAD
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TR é 10. tHEH 11. tHHAE 12, NOEEHK

| A B [tHa IR | A (RS =Y) | IER [A

= &0t 1 163,659 16 200 34 A 2,592
E=Fm 12 7,359 31 1.77 30 A 378
"= 11 8,297 9 2.06 26 A 293
EET 2 22,246 6 212 25 A 277
TiE™ 6 12,607 5 2.14 22 A 210
g={ 7 10,854 21 1.98 33 A 524
BET 9 10,091 15 200/ 29 A 363
TEFEKT 13 7,241 29 184 28 A 340
mA+H 3 16,630 12 2.03 27 A 321
E@h 4 15,019 1 222 4 A 28
FX 5 13,083 19 1.99 24 A 231
BGERT 28 1,420 34 1.68 11 A 69
Z= 4 Fi|HT 27 1,693 28 1.85 14 A 91
E EFET 29 1,308 17 2.00 2 A 26
ZZ HHET 30 1,275 8 2.08 9 A 47
JeJi#t 32 627 11 2.03 5 A 30
B 33 424 13 2.02 7 A 35
= 26 1,738 3 2.15 10 A 56
Z|LIET 24 1,860 27 1.87 2 A 26
REM 22 2078 33 1.71 19 A 150
T 1ERT 23 1,936 23 1.98 13 A 73
KINF 34 225 32 1.75 1 A 14
RY)):] 8 10,555 4 214 32 A 457
1= )BT 17 2936 30 1.78 18 A 147
H A HT 16 3476 25 1.93 20 A 175
& 1| BT 14 6,072 7 2.09 23 A 225
HLENET 18 2,786 20 1.99 16 A 112
IR ET 25 1,782 24 1.95 12 A 72
HE# 21 2448 10 2.05 8 A 42
FEERET 19 2,669 2 2.15 15 A 104
/8 5+ HT 10 8,424 18 200 31 A 396
=L 20 2,618 26 1.89 17 A 119
=R 31 757 22 1.98 6 A 33
2iEEr 15 5473 14 2.02 21 A 194
= e 351,666 2.02 A 8,250
ERx SH2%FE181H SH2E1818 TR31F1 BIE~SMaE12A318
=g FEREXRSRICEDIAD [EREXAEICEIAD [FREASKRICEIAD
H AR CAOFERVHEHAE |- N\OBERUVHEHRAE - A\OBRERUVHEHAE
e
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TR é 13. A\ORE 14, HAER 15, FEToEHR
| B IERL [AkmBF=Y) | IBEL % AOFABY) [ NESL % (AOFA H7Y)
= &0t 1 1,060.1 3 6.85 34 11.7
EFRh 15 52.5 28 343 15 19.9
"= 13 54.0 20 430 25 16.2
EET 3 377.1 2 7.64 33 12.2
TiE™ 4 2945 9 5.45 26 16.1
JAlgTh 6 158.9 22 4.09 28 15.3
BET 11 70.6 8 5.59 29 14.9
TEFKT 17 50.1 32 292 14 20.3
mA+H 14 53.3 5 6.29 31 13.3
E@h 5 263.6 4 6.71 32 12.7
FX 19 48.5 15 471 21 17.9
BGERT 23 322 27 3.67 7 224
Z= 4 Fi|HT 9 110.6 18 4.34 8 22.3
E EFET 2 400.9 11 530 27 15.5
ZHEET 16 50.7 23 4.07 22 16.7
JeJi#t 32 6.5 34 0.77 13 20.8
B 33 5.2 29 3.36 4 25.8
=4 10 94.2 16 4.49 16 19.8
Z|LIET 26 25.9 7 5.71 24 16.3
REM 31 11.2 33 2.71 5 25.2
T 1EmT 27 18.0 6 5.90 6 23.9
KIFt 34 4.1 1 14.71 2 27.0
RY)):] 21 479 17 447 23 16.5
1= )BT 29 15.7 26 3.72 1 29.6
H A HT 22 34.6 30 3.35 9 22.0
{E )1 BT 7 126.0 19 433 18 18.9
#R &N BT 18 495 13 495 10 21.8
IR ET 30 14.7 10 5.36 20 18.1
HE# 8 111.7 24 3.76 30 14.3
FEERET 24 29.0 12 5.14 17 19.5
P8 5 + BT 25 26.2 21 4.24 11 215
=L 20 48.0 25 3.76 12 21.2
=R 28 17.5 31 3.27 3 26.1
2iEEr 12 58.7 14 4.80 19 18.4
= e 99.8 5.96 144
ER SHM2E1R18 SHTE SHTE
ﬁﬂ:’.l. BREASRICESAD ADBERUHEYEE [{FREARSECESIAD- AOBE |[FEERSEICESCAD AOBEE
HAR S ELERFRHRATHERT | RO SHEE (BBEE) RUMSSAE (B5Y)
wBawHE. BrxidEtwEl | SHTEIEROEE |[SHNTE1ERORET
e B/ERIIEIR1BE (B/ERIEIAIHER
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TR ,ﬁ% 16. A0S 17. SESFHAOZE |18 EEADZES
| 2| B [% EfL |% IB%L %
= &0t 3 12.2 1 584 34 29.4
EFRh 30 6.8 31 43.7 4 495
T= 19 9.2 10 50.8 23 40.0
EET 1 12.4 2 56.7 33 31.0
TiE™ 8 10.7 4 53.1 30 36.2
JAlgTh 15 94 9 51.3 25 39.3
BET 10 10.7 7 51.7 28 37.6
TEFKT 28 72 30 442 5 48.6
mA+H 4 11.3 5 52.9 31 35.8
E@h 2 12.4 3 55.8 32 31.8
FX 11 10.2 11 50.3 24 39.5
BGERT 33 55 32 41.7 3 52.0
= FIET 22 8.6 20 46.8 14 442
E EFET 16 9.4 13 490 21 413
ZHEET 27 8.1 18 475 13 443
JeJi#t 24 8.3 17 476 19 436
B 9 10.7 15 48.8 22 40.1
=mF 5 11.0 8 51.7 29 37.3
Z|LIET 21 8.7 29 445 8 46.2
REmT 34 5.1 34 35.9 1 58.0
T 1EmT 13 9.6 27 45.2 12 445
K+ 6 10.9 26 452 18 437
RY)):] 17 9.4 6 520 27 38.4
1= )BT 31 6.7 33 38.0 2 54.6
H A HT 26 8.2 28 451 9 46.1
{E )1 BT 7 10.7 12 50.2 26 39.1
#R &N BT 25 8.3 22 458 10 456
IR ET 14 9.5 25 455 11 449
HE# 18 9.2 14 49.0 20 414
FEERET 12 10.0 24 45.6 15 438
P8 5 + BT 20 9.2 19 47.1 17 438
=L 29 7.1 23 45.8 6 46.7
=R 32 6.7 21 459 7 46.2
2iEEr 23 8.4 16 478 16 438
= e 11.1 54.3 34.6
ER SH2FE1A1H Si2E1A1H SH2FE1A1H
EHl EREASEICESAD-ADDE |FREXRSRICESAD ADBE [FREASIECESAD ADDE
HAF RUHSSHAE (B5Y) RUHSHRE (B5Y) RUMSSAE (B5Y)
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iz |19 BN 20. HHEEY 21. HEAH
| 2| B [% [APN PN
= &0t 34 241.20 1 276,188 1 1,147
EFRh 4 725.20 13 11,633 9 65
"= 21 434.90 10 14,941 15 42
EET 33 250.10 2 39,498 5 189
TiE™ 30 336.85 5 22,810 3 309
JAlgTh 22 417.46 8 18,141 2 389
BET 28 352.53 9 17,266 11 59
TEFKT 6 674.32 12 11,809 14 45
mA+H 31 317.00 3 28,665 8 101
E@h 32 256.93 4 27,953 6 126
FX 25 386.89 6 22,376 4 214
BGERT 2 944.27 30 2,141 11 59
Z= 4 Fi|HT 14 515.61 27 2,772 26 10
E EFET 19 439.43 29 2,307 29 8
ZHEET 10 546.98 28 2,340| 31 3
JeJi#t 12 522.64 32 1,115 30 4
B 26 373.91 33 741 33 2
=4 29 340.34 24 3,118 21 20
Z|LIET 11 530.03 25 3,060 19 25
REmT 1 1,148.04 23 3,204 16 34
T 1EmT 17 464.03 22 3,311 23 16
KIFt 24 400.00 34 328 34 1
RY)):] 23 409.39 7 19,632 17 28
1= )BT 3 810.23 19 4,666 13 48
H A HT 8 561.93 16 5,820 22 18
{E )1 BT 27 363.88 14 10,833 17 28
HLENET 9 552.95 18 4,858 24 13
IR ET 16 475.30 26 2,996 31 3
HE# 18 450.11 20 4,408 26 10
FEERET 20 436.52 17 4,921 20 24
P8 5 + BT 15 476.30 11 14,531 10 61
X B BT 7 659.14 21 4,369 28 9
=R 5 692.00 31 1,345 24 13
vy 13 518.65 15 9,598 7 113
= e 313.43 603,694 3,236
ER SH2E1A1H ST2FE12A1H ER27E10R1H
EHl EREFAEICESAD-ADDE | EBEANLZE EZRE
H AT RUMSHAE (BHE) EEXCHEES BRIEEMETR
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